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Question Label : Multiple Choice Question

One parsec is equal to :
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Which of the following is a dimensional constant ?

= & F =FEE FEEm w7
Options :
Refractive index

=] [= =

1. % R

Dielectric constant

=, .
= = =

2.£3 . e ¢

Relative density

-

A T

Gravitational constant

TEIE TR
4 @ TOEHE TEE

Question Number : 3 Question Id : 5934526521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
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The acceleration of a car that is brought to rest from a velocity of
10 m/s 1n a distance of 25 m 1s :

10 m/s & I I T I BT B 25 m /A A FIEHEET F @ G
Options :
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Two bodies are projected with the same velocities such that they have
the same horizontal range. At what angles these might have been
projected ?
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A body of mass 2 kg 1s moving with a constant velocity of 20 cm /s for
4 seconds. The force acting on the body is :

2 kg 5= FT UH 995 4 Ho F W 20 cm/s T T AT A F@T B
s 9% @919 9T g =

Options :
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With what maximum acceleration should a monkey climb up a rope
whose breaking strength is 7/6 times the weight of monkey ?
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A rod of mass m and length [ is lying on a table horizontally. In
making it to stand on table the work done is :

UF m S=A AR | TR B BT T A 97 Hfod 997 5| 79 99 o4 @9
FI H T/ FE BFT

Options :
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A body tied to one end of a string of length r is whirled in a vertical
circle. The minimum velocity at the lowest point to complete the loop
T
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A spherical ball rolls on a table without slipping. The fraction of its
total energy associated with translation is :
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Acceleration due to gravity on earth 1s g. Mass of moon 1s 80 of the

mass of earth and radius of moon is 1 of the radius of earth. The

g value on moon's surface 1s :

gl FH ATE 9L THAE @O B/ AN g 5| Afc I H S=EE F=HT H
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Escape velocity of a planet 1s v_. If the radius of the planet remains

same but mass becomes 4 times, the escape velocity becomes :

Tl I= W1 9eEs o, B 9ic I8 W Hen g9 @ Feeg s=Ee 4 7
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A liquid 1s put in a vessel. If adhesive force 1s very weak as compared to
the cohesive force for the liquid, the shape of liquid surface near the
solid will be :
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Almost vertical
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A square wire frame of side L 1s dipped 1n a liquid of surface tension T.
If on taking the frame out of the liquid, a membrane is formed. the

force on the frame 1s :
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Question Label : Multiple Choice Question

Two springs of spring constants 1500 N/m and 3000 N/m are
stretched with the same force. The potential energy stored 1n springs

are in ratio :

1500 N/m =77 3000 N/m = Fade el & HAal & Ga8Gs Jd o
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A vessel, with a round hole of 0.1 mm diameter in bottom, is filled with
water. If surface tension of water is 75 dyne/cm and g = 1000 cm/s%
What 18 maximum height upto which water can be filled without

leakage ?

el # 0.1 mm =T°T & I<F B& Jcl UF S99 H 91 997 =1 81 5| a9
AT H I a9 75 dyne/cm T g = 1000 cm/s2=, af a9 H 6
AT T2 O% 9F1 =T T o 99 A1 T =7

Options :

L% 100 cm

TS cm



60 cm

4 30 cm
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According to kinetic theory of gases, at absolute zero of temperature :

TIEFT A9 9 T F oS RS
Options :

Water freezes

| % T S OSET %

Liquid He freezes

Molecular motion stops

3 @ TATA F A BH AR B

Liquid H, freezes
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The mean translational kinetic energy of an ideal gas molecule at
temperature T is :

i etest T/ A arEe T 99 S IEE T # s el B
Options :
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An ice cube containing an iron ball is floating on the surface of water
in a trough. When the entire ice melts the level of water in trough :

UF g% F 99 | UFH B #Hi IS 7

=,

5| 9% ol =i GIOERT § 7@r 7

T AT = &1 SR ¥ =39 =19
Options :

rises

Soar B
lu w LAY rd

falls

=

) AT &

remains unaltered

y x AR T B

first falls and then rises
4 % T5d e & T 3=a1 &

5 99 99 9%
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For an ideal gas the ratio () of C_ and C_ depends on temperature as :

ST T F oo C, AR C_ |/ AJIE (y) T9 92 #7757 F=hiE A FET HA
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Options :
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If a metal wire is heated from 30°C to 130°C, the change in resistance

is 0.05Q. If the resistance of the metal wire at 30°C is 1Q. What is
the value of its temperature coefficient of resistance ?

e U 9 % o7 30°C I 130°C = T FRAT AT % AT 5O AT H
gfgas 0.05 AF % afs 91 % A & dfead 30°C 9% 1 AW = af 396

Ofceig @9 N B FA AT 57

Options :
1 % 2% 1 ME

, o iB# IEYRE

5 % 5% 10%/°C
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In an adiabatic change the pressure and temperature of a diatomic
gas are related by :

el oA AEas # B fET AT M % o 9 a9 F§ T BT 5

Options :

5/2
L% Pk T

_ 2)5
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5 u P
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Question Label : Multiple Choice Question

If v 18 in em and t i1s in seconds the amplitude of the wave
y=3sin 314 t+ 4 cos 314 tis given by :

O yem & @ tseconds & = @ @7 y=3 sin 314 t+ 4 cos 314 t I
Options :

L% 3 cm

) % 4 em
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The energy stored in a spring when it 1s extended by a tension T is
(k-spring constant) :

k & Mo aclt B J T 99" O d=a 97 d@=ga 3= &

Options :
TE

L 2k
5 ® T2
g
2

;3 % 2k
212
g% T
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In Fig are shown three combinations of spring- mass, (i), (11), (i11).
Springs are identical. The time periods of oscillations of three
combinations are in ratio :

== & E-s=maE ® am (1), (1), (i) Feem &3 F) afe = v a5 oA
ar @ A B ATIT B

I Ik Ic k
m m
Kk
mn
(i) (id) (i)

Options :
L \/E:E:l

. x BBs8:1
3 % 1:242:42

2\/5:1:@

4. %
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In a solid, wave propagates as a :

fpelt 2/ § 9997 = 9= 2 2o
Options :

transverse only

1.$W'm



longitudinal only

) % AT AT

transverse and longitudinal both

3 @ T AT A= I

neither transverse nor longitudinal
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When two waves of almost equal frequencies vy and v, are produced

in a medium simultaneously, the time interval between successive
maxima 1s :

9 Rl A" H UF 1" oI S497 Al vy HAE vg H ST a3

SE0eT =T AT B, A1 &l SFH= =999 FJid] % A= 0 aEaEaae &

Options :

1
L Ul —L’E
1 1
5 % Uy Ug
1 1
3 % 1)1 IE’E
1
Ul +U2
4. ®
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Planck constant has dimension :

iF o # f=Er ®
Options :

Iy +2—1
| v MLPT

M2 21

; % MITOK™
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4
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A charge g moves once round a complete circle of radius R with charge
Q at its centre. The work done 1s :

Q ¥EW % =JEr AT R & & % 997 g9 H UF AEIT q UH L IHAT
%l '_F:I.'":l F:I.' "-i -:'__I'-‘-
Options :
1. 9

Qq
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4 €0 Rz
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A non-conducting sphere 1s uniformly charged. At a distance r from
the centre (r is less than sphere radius R}, the electric field is
proportional to :

T FEE T UHAHE AR 51 %= o r gil 9% (r el Wi &= R
T HH B) dTd &S TARER 5 o

Options :

1.« T

4% T
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Question Label : Multiple Choice Question

The dielectric constant of a metal 1s :

TRl og I 9O Bl

Options :
1. % 1



b

2. & A

indefinite
4% AFATT=T
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A wire of 20Q is bent to form a complete circle. The resistance between
two points tapped at one forth of circumference 1s :

20Q % A H UFH I I H T9 H AST TN T | O H 9T H TH FAAE
AT B AT ®HI Al of fagelt & 9= @ gfoud B o

Options :
| % Z 50

, % 50

3 ¢ 3.750

4, % 100
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How many Coulomb of charge must pass through acidulated water to
liberate 22.4 litre of H, at NTP ?

AT = A fRae e ST Wansa A S i NTP 9% 22.4 @fes

=
H2 HATHF &l 7



Options :
1. % 1C

, x 1.6x 10" C

L % 96500 C

4 v 193000 C
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A bulb marked as 100 W, 200 V is attached to 160 V supply. It will
consume :

100 W, 200 V #ATRT U= g=3 I 160 V I=ns IO ST @1 51 98 @9 H
Options :

| x 100W

, % 32W

N
3@ 64 W

, % 160 W
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The thermo e.m.f. (E in V) of a thermocouple depends on temperature

g as :

2
E=406- >
10

where § in °C is temperature of hot junction and cold junction is at

0°C. The neutral temperature of the thermocouple is :
Tl g™ @& f=ar. =9, (E,V #) a9 g 9X = ais o e FwEan -

2
B

E=40 60— —
10

=T g T AT F: OC H A9 F ST TS oy # A 0°C ® I ATT I

ST-AE2 1 M~ |1 S

Options :

| % 100°C

, @ 200°C

3 x 300°C

4 % 400°C
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Question Label : Multiple Choice Question

Torque on an electric dipole in an electric field 18 maximum when
angle between p and [ is :

et g fagg o7 & FFg &9 & 9ot &1 A9 afasas s 2 oS9

—

Options :
1. % 0°



9Q°

2. ¢

180°
3. %
4w 45°
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For combination shown in Fig. Capacitance between P & Q 1s :

== # Sag w@aEE W P AR Q & A= giiar B

9]
2
9]

Options :
1. * C

, x 2C

3 @ 3C

.« C/3
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A charged particle of charge q moving with velocity v enters along axis
of current carrying solenoid. The force on charge 1s :

q AT AT TH FHOT v I A UFH GEEEN TRANTH H AT & AL AT
FHIAT Z | AET 9T TqA B

Options :
1.« 0

) % quvB

4% quB/2
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The shunt resistance of an ideal ammeter should be :
Options :
Very large

Zero

) |

2. % I
Infinite

3 % AT
About 1000

4w STTET 100 =19
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The permanent magnetic moment of atoms/molecules of a
diamagnetic material is :

T Eg=EFE Tord F UIHE/AY] T ETE gEEEd ATge AET B

Options :
Small
% &

Large
AT

Zero

Negative

4 u ﬂ?_ I -;I -:i
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When placed at a geomagnetic pole the needle of a dip circle stays
along :

Afd g9 B GFEHE g9 97 @ 97 396 T T
Options :

South north direction only
L% SiAv-30¢ feam A=

East west direction only

TF-giegH fsm A=



In vertical direction

3 FEET fEEm H

None of these

=91 o FHiT AT T9
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Reactance of a capacitor of — farad capacity at 50 Hz frequency 1is :
1

1 : T »
50 Hz 13 97 —f 90<ar I T4 =/l Ja9rer 5 o
T

Options :
| % 10002

, % 100

-2
3@ Lo=10

500
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Self-inductance of a straight conductor is :
TRl I T B FJ-UEE BT o
Options :



L T
:‘d:.
) % HTI
Very small
3.0% el BIE

Very large

= .'EE- EE
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Lenz law 1s a result of conservation of :

v =/ FaH fREe 99 @ ufeemH B o
Options :
charge
| % AT
mass
5 % EEAE
energy
3. T
momentum
4 % T
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Question Label : Multiple Choice Question

The phase difference between the voltage and current in a pure
resistance in an AC circuit 1s :

et AC 99y § o= 3@ 9049 # FEgraY o 99 F A FHemae s

= .
2

Options :

| % T
2w ©

T
3% 2
4% S
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Two waves having intensities 25 and 4 units produce interference.
The ratio of minimum and maximum intensities 1s :

25 AT 4 THIE AT T
Algwas dEarAt w1 AT

T =IOHIOT SedT Il 5| gEaE ST

B L

Options :
49



29

3.0 21
21
4% 29
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An air bubble 1n a glass slab (U= 1.5) 13 5 cm deep when viewed from
one face and 2 cm deep when viewed from the other face. The slab
thickness is :

H= dizH (W=1.5) § FA B _UH OGN UH AX A T@H 9 5 om
e 97 AN @ AT O 8@ 97 2 cm FH TEAE 9T K@E 9941 B | HH

=

F — r
RIEE 7] % HICIE & .

Options :

L& 10.5 em

2;3'?cm
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The number of atoms per unit cell in a sc, bee and fec systems are :

sc, bec 3T fec FFEl & Afd s FeEm § REERT # GEATW F

Options :

| L8



8,9,14

2. %
s x Byl
o Dghy
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Which is observable limit of Universe ?
FHUS HI g AT F4T B 7
Options :

| % 2% 10°km
) 2x 10"y

2% 1M AT

3. =

L & 3x10%ly
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Lyman series lies in :
Options :
UV region

o UV &



IR region
IR &= #

X-ray region

=y

X-ray &9 #H

Radio wave region

T T g H
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Question Label : Multiple Choice Question

In normal pn diodes level of doping 1s one impurity atom per n atoms
of semiconductor, where n 1s of the order of :

AEFT pn SEE A SOGT & &Y, 1 AYRE F AT 97 n ASTHEEH B
q\. I__P_ "; %! "I"?:F Tl Eﬁr In:r F:I-.'i__, a?l- L L ?-__'-: :

Options :
108— 107
1. ¥
2. % 10°
3. % 10°
4, % 10°
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Question Label : Multiple Choice Question

The conversion of precipitate into a colloidal solution by addition of
an electrolyte is called :

ol A9sd § ®HiE JEg AI9Cd S 9Y, 989w waEst Gaad #

=

gecTdl =hal =idl =&

Options :
electrophoresis
| % TEID I

electro-osmosis

dialysis

peptization

4 o THEER
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Which of the following is correct for an irreversible process ?

FIEHANT T H & fC e # A @ a8l 5 7

Options :
L% TdS = dE + PdV

, x dH=dE + PdV
; v TdS > dE + PdV

, % TdS=0
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The two electrode reactions written as reductions are :

AT =9 & @ o soEss AR B o

Ag*+ e — Ag, E°= +0.80 Volts /T=
Cu?* + 2¢ _5 Cau, E° = +0.34 Volts /diee

If copper 18 anode, the overall cell potential will be :
g FMT wHIE B O TEE Ao g€ s o

Options :
+0.46 Volts

L +0.46 T

+1.14 Volts
, % *1.14 ae

—0.43 Volts
3 % —0.43 F=

-0.46 Volts
4 % —0.46 FFT
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A salt M| A whose solubility is S moles per litre, dissociates as follows :
M_A = x M=+ vy A7, the solubility product K_, of the salt is given by :
x ¥ =

=2

T M, AR Fomar S |5 o oies &, 7 e O B BET B

M A = xM=+y A=, @9 =1 HGegar orea K5

Options :

| K =Xy (8

) o K T B
. K_ = (S)

3. Z
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The rate of reaction was found to be equal to the rate constant at any
concentration of the reactant. The order of the reaction 1s :

Options :

1.¢ 0O
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Which of the following expresses the correct relationship between

mean free path (2 ) and molecular diameter (d) ?

=1 & T HE-T oA gEa 99 (A) T AmEs = (d) ® A= T8

=, o

Options :

: 1
hoot —
d

A oc d2
2. %
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Question Label : Multiple Choice Question

The violet colour of Na, - Clcrystal is due to :

i
Naha Cl FpeEer & T 297 F1 HEIT = -

Options :



Frenkel defects

Schottky defects

5 % IMehig G
Interstitials
3. %
F-centres
4~.../ F_'—:‘.’i.l-l.
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Entropy change in an adiabatic reversible process is :

TG SSPAYIE WERH § UeErdl q9iigae BEl B

Options :

positive

negative

3.¢

Infinity

HT1
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87%m

hE

v2 in the equation V2 g+ (E-V)y =0 is known as :

" _ )
AR g2 1+J+BJL2m[E—Tf]w=D H y2 |AFT ST B
h

Options :
Laplacian operator

AT AHE & =9 H
1 v S

Hamiltonian operator
P
g Dol T®E H =9 H

2.

Angular momentum operator

5 % B FAT THEEH EH T OH

Energy operator

L% A1 HbleH & =9 H
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Which one of the following i1s not a criterion of equilibrium ?
Fr=iteha & o HE-AT ATAEET HI FHAET T8 5 7

Options :
1 % I[d"‘:“r:l'r,1= =0
) [dSIEN >0
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Question Label : Multiple Choice Question

Among the following the correct order showing variation in melting
points 1s :

Frfafas & e 9ge e 5o o8 w1

Options :

L Ii=Na=K

, « Li>Na<K

3 % [i<Na=>K

[i<Na<K
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When HCI is dissolved 1in water, the conjugate base formed 1s ?
HCI = =i # T 9% 937 & F9a1 & -

Options :
| % OH-

2. % HEO
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Urea and ammonium chloride in liquid ammonia solution are :
T 7 STHIEH FEEIes 59 S Feas | B E o

Options :
acids

bases
, % HX

acid and base respectively

HHIT AR T &
3. %

base and acid respectively

4w T AT T A
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Example of symbiosis 1s :

TsAMgaT HT I=70T &
Options :

BFSH_ + BHSF_ — BF.q__ + BHq__
1. v



, BFa +BHy —BFsH +BFgH
2.

3 % BF4_ + BHq__ — QBFQHE_

, BFs +F~ > BF,”

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.
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Which of the following i1s expected to show paramagnetism with a
spin only magnetic moment of 2.83 BM ?

=

=T # A B/ FATIEHAT Sl B FeE B ® Fwer FEESE ATgen
2.83BM % 7
Options :

K,Fe(CN),

K, Ni (CN),

Kz(:o{i 34

, KaNic,
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Pair of planar molecules are :

THACE ATAT BT AST B



Options :

. % BFs

s N,

o

, CIF

o
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Question Label : Multiple Choice Question
In which of the following octahedral complexes of cobalt (atomic no. 27),
will the magnitude of Ay be the highest ?

FiAee (ITHE] T 27) & F=eias erwasE dgal § 3 Bad Ag #
AfgHad Brm 7
Options :
oE. F—
[Co(CN),]

==

1. ¢

3_
[CDECED4]3]
3 & [CDEHED'EEM

L % [Co(NH,)]**
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Question Label : Multiple Choice Question



KO, is used in space and submarines because it :

KO,® I99rT A=ie a1 99g=di & =@r 5 F4i6 a5
Options :

absorbs moisture.

1. %
absorbs CO,.
CO, FFalia FHIar 5 |
2. ®
absorbs CO, and increases O, concentration.
» €0 FAIAMET FHIA 5 T O, Fl A=l TorT 5 |
3. -
produces ozone.
AN IO HIAT
4, ®
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Which of the following is the most reactive ?

=T " O e ATgRaH i BT
Options :

1. % I-z

, ¢ ICI
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The correct sequence which shows increasing order of lewis acid

strength of BF,, BGE’S, BBr, and BI, 1S :

BF,, BCL, BBr, @1 BL # @fa@ &= sfida & =6d #H = T8l dar=d
Options :

. Bl < BBr, < BCL < BF,

BF

- < BCL, < BBr, < BI

3 3

BCl, < BF, < BBr, < BI

3. % ¢

< BCI

B, < BBr, < BF 5

4. % 2
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The increasing order of the ionic radii of the given isoelectronic species

15 :

Cd T TESOECTEH TSNadl ® I AEEE Sl % g6d 50 #H 5
Options :

t 2 QT - Cat < C]
|« K'<8*<Ca?<ClI

, w OE S0 < BB

- 8% .« 0l = Ca2 = K*



Ca* <K*<Cl <S>
4.
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Which of the following pairs of ions are isoelectronic and isostructural ?

e e e R o 1 e o e = B 1 B 2 ot 1 | = = | i £ 2 | I R

Options :
- 897 . NG,
, % CtO;, CO7

, o ClO5, {9

L

oy, Bor

4, =
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Which of the following species contains equal number of ¢ - and 71—
bonds ?

M= A O R weia " o - 9 - = TEN AEdr # S9Eed 5" B 7
Options :

Xe(O
1. ¢ =4

CH,(CN),



(CN),

, » HCO;
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Which one of the following orders is correct for the bond dissociation
enthalpy of halogen molecules ?

=1 & & $F-T T F9 S s AYHA & 999 THFHII UeEed & A
5 st w7
Options :

> Br
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Question Label : Multiple Choice Question

The product obtained as a result of a reaction of nitrogen with CaC, 1s :

CaC,® AT -Egr== H BFar & 9iom eEsg arg S 5

Options :

Ca(CN),
1. ¢



Ca.N

2. % -
3 % CaCN
CIaCiNS
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Question Label : Multiple Choice Question
Which of the following has longest C-O bond length ?
=1 & @ feed C-O =va %t =g &=l w91l Bl 5 ¢

Options :
| % [Ni[CDh]

[Co(CO),J”

[Fe(CO),]>
3. ¢

[Mn(CO)]*
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Question Label : Multiple Choice Question

Which of the following lanthanide ions 1s diamagnetic ?

=,

=1 TS oEE °§ S Afa-FEEnia B G

Options :
1. Yb*
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Question Label : Multiple Choice Question

A spin magnetic moment of 2.81 BM will be shown by one among the
following :

=1 & & ®F =HOT T A 2.81 BM wefid Hm
Options :

. 3+
% [T (H,0)]

[CoCl]*
s« [CulNH,)J*

< g 12—
i [NiCl,]
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Question Label : Multiple Choice Question

During change of O, to O, ion, the electron adds on which one of the
following orbitals ?

O, ¥ O, =T H =aad TFT SoHg 1 FEH 7 o Had 5599 Fi 5 7

Options :



o * orbital
| % OF FEE

o orbital

, % G HHE

n* orbital

, ¢ T TET

m orbital

4, %
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Question Label : Multiple Choice Question

The complex [Pt (py) (NH;) BrCl| will have how many geometrical
isomers ?

[Pt (py) (NH,) BrCl] @i & foha= soifadia sgame g+
Options :

L¢3
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Question Label : Multiple Choice Question

Which one of the following i1s present as an active ingredient in
bleaching powder for bleaching action ?

L

=1 # IO HE == 9rEsT § o= w5 2 U A AwEEtl & EY

A s

Options :

CaCl
|, % -

Ca(OCI),
2. ¢

CaQC 5’2
3. ¢

CfaDECI
%

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.
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Question Label : Multiple Choice Question

Uranium can be obtained by the electrolysis of :

R e 2 B e e B T o s R o Lo o - YA = s O 2 s | B = L
Options :

| % UF,
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Question Label : Multiple Choice Question

Correct order of oxidising strength in the following is :
T # AR A W TR B
Options :

MnO); > VO} > Cr,03"

1. %

Cr, 02 > MnOj > VO

Cr,02™ > VO > MnO,

v MnOj, > Cr,03” > VO}
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Question Label : Multiple Choice Question

Which one 1s the major product formed in the given reaction ?

ST TS AR § Tied 9HE 3ee FE-I B

KOH/EtOH

CHB—(I}H—{:I—[:—CI—[B
Br

Options :
- CH,CH,-CH.-CH,

, v CHy-CH = CH-CH,



CH,=CH-CH,-CH,

, » CH,CH,-CH,-CH,-OH
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Question Label : Multiple Choice Question

Which one of the following polymerization method is used to prepare

Polyethylene from ethylene ?

TATSSISe= =Bl UI=eli= o 9917 =79 % o0 9= " I HE-200 Teiaas =2

=ier 1 9 G AET O

i

Options :
Condensation

iil - ;I

Addition
2. v 1S

Ring opening

Step growth

=1 J g'qu
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Question Label : Multiple Choice Question



Which one of the following product form when benzaldehyde and

formaldehyde undergo Crossed Cannizzaro reaction ?

B

Traeealss X BHeoeEs Mearad # O O 3e & 97 Hid J9d

B afdaEear | = B

Options :
Methanol
1, u Sl

Formic acid

A TS
3.¢

Benzoic acid

bl | H=0 v -.',|:“~1-'_.-
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Question Label : Multiple Choice Question

Which one of the compound i1s more acidic ?

A

FHEA-A A ATTH =0T
Options :
COOH

NO,
l.¢ ;



COOH

COOH
) OCH,
3. %
COOH
4, %
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Question Label : Multiple Choice Question

In the following reaction, the P'is :

F=fofas ofasear |, PR

CH,OH

Acidic KMnO,
» P

Options :



®

< >—o
:
O

OH

COOH

s

3.¢

COOH

O

OH

Question Number : 89 Question Id : 5934526607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



Consider the following compound :

Carbon-carbon bond length between C, and C, will be :
1 2 3 4
CH, = CH - CH = CH,
= AR # C, ud C, ®EA-HET §9 % = HoEn F= A 7

1 2 3 4

CH,=CH-CH=CH,
Options :
- 1.54 A

1.3A
2. %

1.21 4
3. %

<1.54 & 1.3A
i <1.54 AT 1.3A
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Question Label : Multiple Choice Question

Which of the following halide undergo solveolysis most easily ?

-

=T # ®HME T Belzs # solvolysis TFH AT o BFT 7

Options :

| % CeH,CH,CH,CI

, » CHy = CH - CH,CI

CH,=CH-CHCL-CH,



, o (CeHls)sC=Cl
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Question Label : Multiple Choice Question

Which of the following molecules are chiral molecules ?

=7 vt § He-T FEE A9 7

C H CH,
H%i::— T c{ - \b—c—c—cf
(A) j_“_;\ (B) ;__ _\
H.C H H.C H
NO HOOC
CH,
(C) ke (D)

CH,
OOH NO.

Select answer from codes given below :

= i

S a7 o2 b R s T e - | Ll

Options :
(A) & (C)

L AT

[B) & (D)

, % (B) & D)

(A) & (D)

. » &) & (D)



(D) & (B)

, % (D) (B)
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Question Label : Multiple Choice Question

Which one of the following species is 1soelectronic with NH, ?

— T = =,

Fefefas § # ®F-0 g=ia NH, % A Asaga=sglias 5 °

Options :
1. % =5

2 F :CH:

=]
3. ¢ CHe

&
4, % CHs
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Question Label : Multiple Choice Question

Which one of the following 1s a Z-1somer ?

e 5 A FE-0 U Z-AEAET § T
Options :
H,C Br
H &

1. ¥
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Question Label : Multiple Choice Question

The decreasing order of C-C bond length in the following Hydrocarbons
(I-IV) 1s :

FfeaT BEsiRET ® FEa-FET (C-C) F0s FHt a=E =96 9°d F9 H

= (I-IV) :

(I cCH,=CH, (II) HC=cC-H
(I} cCH, - CH, (IV)

Options :

L% I>0>M>1V

5 % H=M=1=1IV

3 ® M=I1=IV=1I



Wi =1V =1%1
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Question Label : Multiple Choice Question

Among the following, which i1s the most acidic compound ?

FeieaT & & 9 TO99 Sael A=A i 5

Options :

HCOOH
1. %

COOH

COOH

CH,COOH
3. %

COOH

-

CH
~SCOOH
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Question Label : Multiple Choice Question

Which of the following compounds will undergo slowest Nucleophilic
substitution ?

Ffaiad # H HEA-AT A JE A i 9ere I I

-

Options :



Br

¢

&

4.
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Question Label : Multiple Choice Question

2. %
3. %

Which one of the following compounds does not form alcohol, on

treatment with aq. KOH ?

M= " O - S0 JeNEE BESiEEs & O S99 97, SIehiEd

8l === B

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

1-chloroethene

| 1T



1-chloropropane

=N TR, Th TR

1 -FATIE=
2.

2-chloropropane
N 2-FATITI

2, 2- dimethyl -1- chloropropane
, 2% SEMEEA - 1- FREET

Question Number : 98 Question Id : 5934526616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following compounds will react with two moles of
CH,MgBr ?

Frefafaa & & HE-a1 am (Fga F=ifses Jmes) CH MgBr & &
ﬂ'ﬂl;ﬁ F T TiERAT =R

Options :

| % CH,COOH

HC = C-CH,OH
» :
CH,- C =C-CH,

, » CHsCH,CH,OH
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Question Label : Multiple Choice Question

The compound which gives the most stable carbonium ion on
dehydration 1s ?

FHE-TT AMCTH =T TG0 ATTF 2w FHEEaT A= e o B o7

Options :
CH,
CH,—CH-CH.OH
1. %
) CH,- CH, - CH, - CH,OH
2. %
TH,,
CH~C—0H
I
3 EH
(|:)I—I
CH,CH-CH—CH,
4, %
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Question Label : Multiple Choice Question

Cannizzaro reaction is characteristics of :

HITAET AR & a0 =
Options :
All Aldehydes




Aldehyde having no o- hydrogen

5I5S H ATHl (o) BESEE T8 B

All ketone
3 % TN T

Both , Aldehydes and ketone having no «- hydrogen

. Fleq =EH A9w (o) SESET T8 5
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Question Label : Multiple Choice Question

Prokaryotic cells have :
Jihiediicsh HOSTRIAT & 91T
Options :

708 ribosomes, each comprising a 50S and a 30S subunits

| o 70S TEAREE g H w508 AR 30S wEghE AW E



708 ribosomes, each comprising a 40S and a 308 subunits.

, % 708 TEAEET 9 # U 40S A 308 TEgEeE B B |

80S ribosomes, each comprising a 60S and a 40S subunaits.

3 % 80S IETHET FUE H UF 60S AT 40S FEIHT = F

80S ribosomes, each comprising a 60S and a 208 subunits.

, % 80S TEAEIT T § UF 60S @A™ 208 TEgeE B E
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Question Label : Multiple Choice Question

The edible part of cauliflower comprises a bunch of :

=,

R G B e | 1 R T 37 1 x|

Options :

shoot primordia

_ [kl B 1= LT [ EoRal |
leat primordia

5 w T TS

floral meristems

- % F9-aE

vegetative meristems

4 % FEEfOE fEEshEE
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The formation of embryo from an unfertilized egg is called :
9o F TS A =39 AFSigd v #® FEd 5
Options :

Parthenocarpy

-
N 7= =
. e A0

1. ®

Parthenogenesis

5 @ AT

Adventive embryony
3 % A= Ol
Gvnogenesis

4, % HEFET
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Question Label : Multiple Choice Question

The type of pollination involving transfer of pollen from an anther of a

plant to the stigma of another flower of the same plant is known as :

F9 UFH T B AT AT T & TIOT 97 ARG B A 5 odl 3wl

Options :

Geitonogamy

1 \J {I' [E i—:lr q;ll =

Xenogamy

2. ®



Autogamy

3. % |
Apogamy
4, - =%
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Question Label : Multiple Choice Question

The cork cambium, cork and secondary cortex are collectively known

as .

FET-UAT, FHET AR fomiias F0e=n ® aFes =9 J F AT AT 57

Options :
Phelloderm

| % KT AT

Phellogen

5 ® =HOT=TT

Periderm

3.¢

4,
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Question Label : Multiple Choice Question

Double stranded RNA viruses are called :

TE=fEarg=a AT 09.0. {99 FHEad =

Options :

Riboviruses

| x T EEST
Pox viruses

. % 1 2x | Ea EEE e
Reoviruses

3 T aEa=
Virion

4 w T
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Question Label : Multiple Choice Question

Plasmids are :

S Bid B
Options :

Viruses

a type of cyanobacteria



Bacterial genetic element

3%3——naTﬂ1ﬁT:F“—3|—3n—r'—ﬁ=F-r

Extra-chromosomal genetic element

4.9 '

Question Number : 108 Question Id : 5934526626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Pyrenoids are :

r['.:| T =k ﬁ_\-l';‘\r
Options :

A

Starch bodies surrounded by protein grains

JeEgEd s o Y BT ' AiSrE

Starch bodies surrounded by oil droplets
AT Froied A MY BT ' 4w

Protein bodies surrounded by oil droplets

e =
I

y -~ ~ o e
g HIEHT SN H M= ;3[-.', Al Hls=

Protein bodies surrounded by starch plates

= wicd # O 5u AeE e
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Question Label : Multiple Choice Question

In a cyanophycean cell the pigments are present in :

USF IO BT H 99 91" A B



Options :
Chromoplast

I'QWI}[

Leucoplast

e

Cytoplasm

%
g
A

Thylakoids
e H
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Question Label : Multiple Choice Question

Sea weeds are rich source of :

THE-ETIaae (3Ee) § GgaEd # JEr S 8

Options :
Phosphorus

2. ¢

Calcium

% THieoTTH
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Question Label : Multiple Choice Question

In which form reserve food material 1s stored by fungi ?

TSl H =T @ O B E9 H O TEg 8d B D
Options :
Glycogen

-

1.v b L

Cellulose

-

T

Starch

Chitin
= -|'__"'_T‘|-
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Question Label : Multiple Choice Question

The hairs present in maize corn cob 1s :

¥ F JOERH F ST AR # 91 AN g 99 B B

Options :
Seed hairs

I.QF—H?TTI":T



Bract hairs
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Question Label : Multiple Choice Question

Censer mechanism of seed dispersal is found in :

E2haa El 1 St £ S = o e R £ o S
Options :
Papaver

Rdiii .k

Allium
« Oforaw #

Pisum

TIETH H

Hibiscus

4 x R #
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Question Label : Multiple Choice Question

Stomata of a plant opens due to :

et T &+ Fmed s HEOT g &

Options :

Influx of hydrogen ions

RIESIST A ® ATHERE H O HE

Influx of sodium 1ons

g9 9 & SA-UGE F 9

Influx of calcium ions

=
| -

FleaTdd A F A HgGE F OEEET

Influx of Potassium ions

121 S 2 Ea B 1 e M PR L s =1 - M Tl P
4.«

Question Number : 115 Question Id : 5934526633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
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Complete oxidation of one molecule of acctyl Co-A results in the

formation of :

oHfed H-UFAEA-T &% OF A9 & IO ARNHT T T9d &

Options :
12 ATP
Lo 12 Tl

15 ATP
, x 15 &



19 ATP
19 udmdr

3. %

38 ATP

4 % 38 TEM
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Mechanical tissues are poorly developed in :

qiv=leh o= AIGTT [FHaa Bid B
Options :

Mezophytes

qFEiHs |

1. =

Hvdrophyvtes
- 'i"_\| ‘}.i—qﬁ :Er

Halophytes

3 Tie _\,-"';‘T':'( H

Lithophytes

=

IegEs o
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Ecological Pyramids are of :

S 7 1 e o B A A £ Bt
Options :
Two types

Three types
2. 9 IFHT F

Four types
=T 9HT &

Five types
4 % I HET H
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Transfer of information from D.N.A. to m-RNA is called :

SOAT I UH-SROAY 9% U= H RO Heddl B

Options :
Transcription

n I =T

Translation

, & =4 et

Transduction

3 STESHET

Migration

4 % AT
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Chromosomes with equal arms are called :

AN JATAT JTel IR Hean 5

Options :
Telocentric

P Y =
- 5 - ¢

1. =

Acentric

5 % THFEH

Metacentric

=y -

3. T T

Acrocentric

= 2
L= o] L=

4, W RS

J
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Tetradynamous androecium i1s characterized by :
IO 9HET F T B
Options :

Outer 2 long and inner 2 short stamens

= =, =
o

| % BT F G 9% Ud dA<L & &l Bl g9 HAT

Outer 2 short and inner 4 long stamens



Outer 4 long and inner 2 short stamens

=Y & 9% I35 U IFSL & of Bie 9 A7

Outer 4 short and inner 2 long stamens

a7 & A BIC U9 3% & of 9% 99 &EY
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Question Label : Multiple Choice Question

Mernisteles are found in :

AL 919 S E

Options :

Cycas stem

Fern leaf

T T Il H

Fern rhizome
T & TFs o
4.
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The plant that has largest flower in the world is a :

fFeT =1 =99 T=T B 90 9 SET 5
Options :
Total stem parasite

Total root parasite

2w BT

Partial stem parasite

Partial root parasite

4 % FANH =TS TT=E
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Caruncle 1s found in the seed of :

."lll.ll.‘I

EFaE AT M= B e o i = e 1 B

Options :

Maize
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Chiasma formation occurs during the stage :
fRaT==1 =1 =T 6 omaen H s 5
Options :

Leptotene

Deplotene

— =
= "
d -

Pachytene

Zygotene
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Most abundant RNA in the cell 1s :
FHGTRT | TE9 ATSE JET § 9T J3M gl ANTET o

Options :
r-RNA

| AT - T T



m-RNA

, % TH-ARTY

t-RNA

s-RNA
- AT
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Protostomes are those organisms whose :
1o el £ B 1 TS

Options :

mouth develops from primary embryonic opening

Lo 3@ oreEE e fos O 99T B

anus developes from blastopore
, % TECMR ¥ e T4l B

anus develops in the blastocoels

R # T T 5

3. %

mouth develops from a secondary opening

ga fadia feg o == 7a1 &

4, =
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In ascon type of canal system :

OER AT & 87 9OTel H
Options :
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O AR T ST UdiEe 3 AT e ®
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-, =

T AR A AT T TR W BERT AR I T Fde B
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Question Label : Multiple Choice Question

Coelom 1s the body cavity between :
:ci;'.-[:. TT ﬁl- -.rEi[ Lw] LY % :
Options :

1. ®

2. ®

3. %

endoderm and body wall

mesoderm and ectoderm

HiASH T UFelsH &% A= =l AR

endoderm and mesoderm

TrSlSH Ud ®EAEH & A= F AR



intestinal canal and body wall lined by peritonium

4d?mﬂ°|—~rﬂ T FATA T 9T A ® G TR
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Question Label : Multiple Choice Question

Flattened, fleshy, vertical flap like outgrowths of body wall on lateral
sides of trunk segments in Neanthes are called as :

— T

U=y % 9199 927§ 9™ S99 9, =992, HJE0, ST 9 i hed B o

Options :

pedicellaria

=% - g

lu q.ﬂE'I'q

pygidia

2um=ﬁTrﬂT

parapodia

3. & TS

prostomia

=, = -

__:l I-\.':I_.I :lJ.II
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Question Label : Multiple Choice Question

Retrogressive metamorphosis 1s best seen in :
-'-- ? _E - ﬁ [ .\'_F - ..r ?__"?_
Options :
avian development



human heart development

, % A9 FEF T H

bipinnaria larvae

3 ] rﬂ. r.q. '_.-.q o 'Fq' ﬁ-

urochordates

=,

A b 1] B :Er
s 3
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Pneumatic bones, uncinate processes of thoracic ribs, formation of
pygostyle, espanded sternum with large mid ventral ridge are
adaptations for :

o Bfesdr, g9rfiE 9fieEl § O e EET 9E, 9ETEEE . B = AT,

o

n ke B 7 B s R e e b b MG B 1 B |

Options :
flight

.
3= &+ [T

l.¢

swimming
L« B E B

bipedal locomotion

-

e Of 93 9T =@ & fog

3.
perching
qf=T & g
4.%
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Question Label : Multiple Choice Question

The probability of two or more independent events taking place
together is calculated by :

=,

Options :

adding their independent probabilities

39 E oY TEEEIAT B ASEHT

1. %
multiplying their independent probabilities
, o TTH O THEETSA F P HE
subtracting their independent probabilities
- 3T A ATl B el Fiw
dividing their independent probabilities
L % 3 Hae AEEArAl B AR ST
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Question Label : Multiple Choice Question

Percentage of individual organisms having a particular genotype that
express the expected phenotype is termed as :

AT IHmT &

AT B, FEd

MIEET 9T AT T A99E, A0 9T FEEEY wO=E

A Al

Options :
probability

[w A
exXpressivity

5 s THHEIEE



penetrance

3.¢ 2

segregation

4 % HIHEEE
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The unit of distance between the two genes calculated in terms of %
recombination between the two loci is :

Options :
milli Morgan (mM)
| % et AR T (mM)

centi Molar (cM,)

) % Tl AT T (cM,)

centi Morgan (cM)
3 @ Tl A T (eM)

centi micron (cit)

el "HIZE A (cu)
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In pedigree analys=is for determining the probability that the two genes
are actually linked :

OfS3l gAfArad § 59 = 1 99 @ & fog 5 S SR & O gAY o A%
Options :

logarithm of odds score is calculated

I

wl

| @ AT FHIT FH ARTEEH R

odds ratio 1s calculated

o

2. ®

chi square test i1s performed

e

FE =EET S HEeE B

students’ t-test 1s performed

4 % w=eve At e e =
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Question Label : Multiple Choice Question

Structures, whose similarity comes from their performing a similar
function rather than their arising from a common ancestor, are called
as :

T TIE, A6 TEEal 396 9 HET & HAA A A B 39 OF B 99
O e 9 o E, wmant B o

Options :

analogous structures

| v T =T

homologous structures
2. il L=



paralogous structures

TR T

orthrologous structures

4w AT =T
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Cells achieving their respective fates by interacting with other cells,
is termed as :

T FENITERIAT = IO e =991 e 99l IE= g9 Gl SBSERET
E7l q:fﬁ ?'-"

Options :

autonomous specification

ATEFATET TR

conditional specification

FHIrS STl TR

syncytial specification

e i Gl R e i
3. %

symbiotic specification

4 w [rEElieE  EEhn
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Question Label : Multiple Choice Question



A transition, in which a polarized stationary cell which normally
interacts with basal lamina, becomes a migrating cells that can evade
tissues and help form organs in new places, 1s called as :

U UR A=, SO A Y R, S Al S e # dEErEt
Bl 5, 9EET HIH GHL Faml H I AT w5, FwEAl 5o

L

Options :
EMT

MET
x TH.3.T.

CAT

ETE

-Uq-.
ah
IR
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Movement of epithelial sheet spreading as a unit to enclose deeper

layers of the embryo is termed as :
el |9o1 | udrefiferos feeset &6 99 S Besh< AL & AR AR

%, 59 "khar = FHad B :

Options :

ingrasion

R IERER

invagination

p. % TAAAAAT



involution

epiboly
4 % T
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A living fossil 1s :

e s B 1o B I |
Options :

A fossil preserved in almost live condition

TH UHT = S FigT B a9s B e Bl T B

1. % '
An organism which 1s newly evolved and living
, % T Sg ST AT AT i gen B oaen Sfiaa B
An organism which has survived without any evolutionary changes
over a long period of time
s, ¢ T U ST S awE e = EE & S s
An organism which just died
4 - :r: 4 -'\'1 :I[ d’ = ?-ﬁ- Ll b ;__-"-:r ﬁ = 9 %2:“- ?____'f-
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Pluera form double membrane sac which :
SRl i = o e e L e 1 1
Options :

Envelops brain

- -

HE=F = TFH1 =+ [0

Envelops lungs

TSl H THFT F T
5 @ TEST B T + Too

Envelops kidneys

. TRl H BFEA F o0
3. -

Lines nasal passage

4 % T ® TE BT D
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Site of gaseous exchange in lungs 1s :

el § TEE =EEE BT B
Options :
Tracheoles

1. 23 :*F l'---..F‘l ,'_I Q’Q I ﬁ

Bronchioles

= T
HIM=HHl H

2. ® z

Pulmonary vein

| TR 3 A



Alveol
4. v [..:':;' '—"':I:I'_ E c: ]-:T
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If a man from sea coast goes to Everest peak, his :

-

T UF g GHE | UAYEe =Jel 97 S 5 oar

Options :

heart beat will decrease

o S FEE W AgET T
1.

respiratory rate will decrease

e Mrs o M 1 1 B o Y e L

breathing and heart beat will increase

3 @ STl 999 99T 5ed A =%

breathing and heart beat will decrease

. SEHT 99EE O ged Mg 9 S
4.
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The membrane phospholipids form bilayer, when water is available

on both sides, due to :

TET F IO # el BiEEeds of 9% " =99 Sl B, SOl el 5o



Options :

Its amphipathic nature

| T A &

Presence of unsaturated fatty acids

FOGT TAT AT H SIS & A

Presence of saturated and unsaturated fatty acids in its tail

y x G99 OF AHgE T AT UE W 9T # wee

Presence of cholesterol along with phospholipids

T FIEFMATIS S9EES & =FrEoT
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Which of the following 1s the largest chromosome ?
Options :
Satellite chromosomes

=,

Ieess R

X-chromosomes

) % XA

Lampbrush chromosomes

::“r:' .-_\ _J"'
3 Shat = N 1 R 1B | has



Polytene chromosomes

o TiATel AR
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The main producers in an aquatic ecosystem are :

UF e diREOHE O % g 30e®
Options :
Large rooted and floating plants

-

i B | S Rt e

1. =

Zooplankton

. -
5 «." 4

Phytoplankton

) el e = Tl
3. %

Detrivores

- R

4, =
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The total output of photosynthesis including the organic matter used

up in respiration during the period of measurement, i1s called as :

L e T E s - R B B I B i = e e e S s | e = A

Net primary producitivity

G HTEER  Sodeehdl

1. ®
Gross primary productivity
2 .‘f ~ cq.‘!:'- I:IT\'Q_-li_.IEf jE:I '-'.F:n'. I

Net community productivity

-
3 Y %I":i L2 ﬁ 1] B2 E TG s | [+ 5Ty

Secondary productivity

4 % FIEAES S
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Which one of the following ecological pyramids can never be inverted ?

=H I FE-TT OiOEEgERE TaEs w69 9 Se=r T8 BT o
Options :

Pyramid of size

1 ® SHIERTE =RT '_1.:]{['_1] b

Pyramid of energy



Pyramid of biomass

3 % O TIETT HT S

Pyramid of number

TET 1 s
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Question Label : Multiple Choice Question

In most birds after hatching, the young ones normally begin to follow
their mother. This behaviour 1s known as :
AfTHiT 9T F I TH A BT AT AT FH AT B OGO B B ITH
=0 A8 Hl Fed o
Options :

Imprinting

——

L = 7

Parental care

=5 _\- - !.... .'__\.l ; ;

Trial and error learning

Reflex behaviour

4 % o] =J9a17
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Question Label : Multiple Choice Question
Two amino acids joined by a peptide bond is called as a :
Options :
Dipeptide
L SlEHCISS Hed =
Monopeptide
, % AFNTES Fwmd F

Polypeptide

Nanopeptide
4. ® THMEES HEd B



